Stands
(STO / F1 /F2 /F3 / FINT / F2NT / F3NT / FNT)

Double column stands
(DSTO / DF1 / DF2 / DF3 / DF4 / DF1INT / DF2NT /
DF3NT / DFANT / DFNT)

SOFT MOVE
STEIN Workpiece Transport System

Operating instructions

Attention all installation, operating and maintenance personnel -

always keep these instructions by the stand!

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018 1



© by STEIN Automation

The copyright for these documents is reserved by STEIN Automation.
Original language of the document: German

These documents may not be altered, distributed, reproduced or transferred to third par-
ties without the prior written permission of STEIN Automation.

STEIN Automation GmbH & Co. KG
Carl-Haag-StraBe 26
78054 VS-Schwenningen, Germany

Telephone:  (+)49 (0)7720 / 8307 -0

Publication date: January 2017

The right to make changes in design and construction is reserved.

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018



WO QUALITAT

ZU HAUSE IST

Contents
1 Abbreviations and SYMDOIS ...ttt s se s sasssane 4
1.1 Explanation of safety and Warning NOICES ....ceeiiieeciiiiiiieee ettt e e e e e e e e e e e e emeareeeees 4
2 INEFOAUCTION .veeniiiiiiiiiiininiiiennnieiessnteiesssnsesesssasssesssasssssssasssssssasssssssanssssssanssssssanssssssanssssssonssssssenssssssonssssssonsssos 5
Y2 BN o To T e L= el o Ao o RS PRTS 6
Y A [ 1A F- TN TaT] o= o3 4T o SRR 8
R T 00100 - 110 - P RPRR 8
2.4 WaAITANTY coeeeeeee 8
3 Safety INSTIUCTIONS. ..ottt sttt s ssas st ssas st s sssesasesssssasssasssassssssssssssssssassnas 9
3.1 General safety iNfOrMatioN ..........viiiiiiei et e e e e e e e e arreeeeeeseessnnnnseeeeeeeeeennnnns 9
3.2 Appropriate use and liability @XCIUSIONS ......ciiiiiiiiiiiiiiiiiiiiiieeeeeeeeeeeeeee e ee e eeeeeeeeeeeeeeeaeeeee 9
TG T =T o [UE: | o F= 1 V== PP PP PPPPPPPPPPR 9
3.4  Safety information for installation and repair WOrK............eeeieeeeciiiiiieee e eeerree e e e e e e 10
4 TeChnNiCal deSCHIPLION ....uviiiieiiicetticettecnttierntteesaeteessanstesssnsstssssnnsssssnssssssnsssssssnssssssenssssssnssssssonsssons 11
O B oo o L= TN oyl [ LT oYU 11
A V] (o1 o] o B OO P PP PPPUUPPPPPPPP 11
4.3 SUD-ASSEMDIIES . ettt ettt e et e e et e e e e ba e e e e e bt e e e eabeas 12
5 Installation of the StaNd ...ttt se b s s 16
ST B o o ToT=To [V OO U TSP OO PP UPPTUUPPPP 16
5.2 PIEPAralioN cooeeeeeee e 16
5.3 SHANA INSTAIIALION .eeeiiiiiiii ettt e e e e e ettt e e e e e e s st e e e e e e e e eabreeeees 17
5.4 Connection Of the SIAVE NT ...cei ittt ettt e ettt e e ettt e e s et e e e eabeeee s 21
5.5 Connection of the power unit to the MaiNS SUPPIY ...veeeeeeeieeeiiieiee e e 21
6 INItIAl OPEFALION ....ceeeeeiieeeieceetecreetecrreeteessneteessneteessnnesessssnssssssnnsssssssnsassssansssssssnssssssansssssssnssssssansassssanaes 22
7 SEANA OPEIALION .ccuveiiiriiiiiiiiiiieiiitiieniitieniittiessstesessstesessssssesssasssesssasssssssassssssssssssssssnssssssasssssssasssssssansssoss 22
8 - 11 22
9 Cleaning, inspection, MaintenNaNCE............cueiiiiiiieiiiiiierntcceennercersseeecaeesssesssesssssessssesssssssssseses 23
L2 B €] [T o 1 o T~ S OO OO U PO PP U PO PPPTORUPPP 23
0.2 INSPECTION ceiiiiieeeet ettt e e e ettt et e e e e e ettt e e e e e e e bbbttt e e e e e e e a bt beteeeeeeesaaabeaeees 24
0.3 MAINTENANCE .ttt ettt ettt e e e ettt et e e e e e sttt et e e e e e e e bbbt e e e e e e e e e bbateeeeeeeeaabbeaeees 24
10 DimenSioNS ShEEL.......uuiiiiiitititrtrtittcttttt et sae s st s sas s s sa e saesne s basnes 25
L T T =TT o T T 26
11.1 300 580 001 Stand for SOFT MOVE .......cooiiiieiiitee ettt ettt ettt e st e s e eaieeee s 26
11.2 300 581 001 Stand for SOFT MOVE With Slave NT ...ttt 28
11.3 300 600 001 Double stand for SOFT MOVE with / without power unit.......cccceeeeeiiiiiiieeeeeeeiireeen, 31
11.4 300 601 001 Double stand for SOFT MOVE with Slave NT.......ccoiiiiiiiieiiiiieeeeeeeeeeee e 34
11.5 Installation duct for stands With SIAVe.......cco.uiiiiiiiiii e 38
11.6 Installation duct for stands with slave and gatewWay ..........cccccvviiiiiiiieeeeeeee e e 40
11,7 Stand @tTaChMENT ettt e ettt e e et e e e e et e e s et e e e e aabeeee s 42
LI -V o o1 T | 43
12,71 TECRNICAI AALA .. ettt e e e e st e e e e e s s b bee e e e e e e s s aamnraeeeas 43

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018 3



WO QUALITAT

ZU HAUSE IST

1 Abbreviations and symbols
a Action symbol
a 1 Symbol for actions which must be carried out in a specified sequence.
= Consequence or result of an action
o Count
Fig. Figure
BA Operating instructions
BE Belt element
ST Stands
DST Double column stands

This sign indicates information that will allow the stands to be used more effectively and
more economically.

The symbols used in the operating instructions for safety and hazard warnings are de-
scribed in detail in chapter 3.

1.1 Explanation of safety and warning notices

A

DANGER!

WARNING!

A\

CAUTION!

The following safety signs explain all the situations or actions where danger to life and
limb for machine operators or their colleagues exists.

Strictly comply with these instructions and act with particular care in these cases. Pass
all safety notices on to all other users.

The symbol with the added designation DANGER describes a directly impending
hazards!

The hazard results in serious injury to people or even fatalities.

The symbol with the added designation WARNING describes a potentially
impending hazards!

The hazard may result in serious injury to people or even fatalities.

The symbol with the added designation CAUTION describes a potentially
hazardous situation!

The hazard can result in injury to people.

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018



WO QUALITAT

ZU HAUSE IST

A\
A\

A\

The safety signs appear frequently in the text with a picture to explain what the source of
the hazard is.

CRUSHING HAZARD!
This symbol gives warning of a location where there is a risk of being crushed.

HIGH ELECTRICAL VOLTAGE!
This symbol gives warning of possible electric shock.

It appears for all working and operating procedures that must be followed precisely, in
order to avoid injury to personnel or damage to the system through high electrical volt-
age.

Other warning signs:

This symbol indicates warnings which, if ignored, will cause a hazard to the machine.

ATTENTION!
Protective clothing must be worn!
Wear your personal safety clothing:
Safety footwear, hard hat, goggles and safety gloves.
=/ Environmental protection!
/ This sign indicates warnings that will help to avoid harming the environment.
2 Introduction

ol m

The safety of all persons who come into contact with the stands depends fundamentally
on knowing how the stands function. Therefore:

Read these operating instructions before using the unit for the first time.

These operating instructions contain important information which will ensure the correct,
economical and safe operation of your stands.

If not specifically mentioned as deviating, then the same information applies to the stands
that are not described in detail as for the stand described below.

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018 5



2.1 Short description

Stands are installed in the STEIN 300 Workpiece Transport System. The stands carry the
belt elements. Additionally further components may be built into the stand housing.

In conjunction with the Workpiece Transport System, the stand provides:

e The support for the belt elements

e Fastening for the ring main channel

e The fitting of a power unit (optional)

e The fitting of a Slave NT unit (optional).

Fig. 2-1:
Stand STO
- components

1 Cross sections
2 Stand base section
3 Adjustable base

6 STEIN300 SoftMove_Stands_07_GB.doc / 11.2018



Descriptions and types of stands.

Depending on the WTS application, the stands are available in different configurations.
e Stands
e Double column stands

ol w

e Stands with power unit and/or
e Stands with Slave NT

Description Art.-No. Power unit Slave NT
STO 300 003 001 X X
F1 300 580 001 1 X
F2 300 700 001 2 X
F3 300718 001 3 X
FINT 300701001 1 1
F2NT 300 702 001 2 1
F3NT 300719 001 3 1
FNT 300581001 X 1
DSTO 300032 001 X X
DF1 300 600 001 1 X
DF2 300703 001 2 X
DF3 300 704 001 3 X
DF4 300 705 001 4 X
DFINT 300 706 001 1 1
DF2NT 300 707 001 2 1
DF3NT 300 738 001 3 1
DFANT 300 764 001 4 1
DFENT 300 601 001 X 1

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018 7



2.2

2.3

2.4

Initial inspection

Complaints

Warranty

The stand is transported secured on a wooden pallet.

U Unpack all the components supplied.

Environmental protection!
Dispose of all packaging material in an environmentally responsible way.

Then carry out an initial inspection.

Check that:
U all components detailed on the delivery note have been supplied
U components have not been damaged or lost in transit.

In order for claims for damage caused in transit to be accepted, follow this procedure:
U Inform the freight company.
U Draw up a damage report giving the following details

. Name and address of recipient
. Item or order number
. A description of the damage.

O Send components, if possible in their original packaging, with the damage report,
back to the manufactures.

For the stand and its spare parts we grant the legal guarantee period or rather the de-
fined guarantee period in the contract, starting with the day of delivery.

During this warranty period we will replace any components defective in manufacture or
materials free of charge.

STEIN Automation's general warranty and guarantee conditions also apply.

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018



WO QUALITAT

ZU HAUSE IST

3 Safety instructions

3.1 General safety information

d Stands from STEIN Automation are high quality products, manufactured to
recognised technical specifications.
The stands left the manufacturing plant in a perfectly safe technical condition!

a All models of the stands comply with the requirements of UVV, the German acci-
dent prevention regulations.

Q To maintain this situation, installation staff, users and service technicians must ob-
serve the notices and warnings contained in these operating instructions.

a Stands must only be installed and repaired by authorised personnel who have
been trained by STEIN Automation.

a Only genuine spare parts from STEIN Automation may be used when carrying out
repairs to the stands.

3.2  Appropriate use and liability exclusions

The stands must only

O  Be built into STEIN 300 belt systems
Compatibility is only assured with STEIN 300 belt modules.

Be used for suitable BE with the permitted dimensions and weights
Be used indoors

Be operated in dry areas

Be employed in areas where there is no risk of explosion

(I Iy Iy W W

Be used for the mounting of Stein belt elements with the permitted weights.

Unauthorised interventions, alterations or repairs carried out to the stands invalidate the
warranty.

Additional fittings to the stands:
- must only be undertaken after consulting STEIN Automation
- must not alter the belt element geometry in any way.

STEIN Automation accepts no liability for any damage caused by unauthorised interven-
tions, alterations or repairs.

3.3 Residual danger

The stands are manufactured using state-of-the-art technology and to recognised safety
standards Despite that, their use can lead to dangerous situations for users or third par-
ties arising or to impairments of the system and other material assets.

If used improperly, amongst others, the following injuries can result:

e Knock / blow:
- when the stands are not mounted, risk of them falling over!

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018 9



Fig. 3-1:
Knock / blow

3.4  Safety information for installation and repair work

A

DANGER!

A A\

DANGER!

A

DANGER!

10

In the area of the belt modules due to an unexpected start up!

HIGH ELECTRICAL VOLTAGE!

Risk of electric shocks from function stands and stands with integrated alumini-
um cable ducts with earth cables!

a1

Before carrying out any installation or repair work, disconnect the relevant function
stand from its electrical power supply.

Put up warning signs to prevent the system being started up while installation and
repair work is being done.

Carry out the work

. in accordance with the descriptions in this documentation,
. complying with relevant safety and accident prevention regulations and
. in a technically correct manner and with the greatest possible accuracy.

If Stein aluminium cable ducts are fitted, they must be earthed by a qualified elec-
trician.

After completing installation or repair work, carry out a test run of the entire sys-
tem and check that all safety features are functioning correctly.

Never operate the WTS using

o defective safety equipment and / or

e damaged components / fittings / cables!

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018



4 Technical description

4.1 Scope of delivery

The stand is delivered with an adjustable base.

Depending on the stand configuration a power unit and / or Slave NT is included.

4.2 Function

The stand carries the belt element.

In addition, a power unit and Slave NT can be fitted to the stand.

The number of motors and transfer units determines the configuration of the individual
stands.

ol m

For more details regarding the power unit and Slave NT, please refer to the power unit
operating manual and the technical description of the Slave.

ol w

The description module is for the belt elements assembly or the transverse section ele-
ment with stand.

ol m

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018 11



4.3 Sub-assemblies

4.3.1 Stands and double column stands

Depending on the workstation type, different sorts of stand are required.

i

Fig. 4-1:
Stands for workstation
types

A - workstation

B - workstation

C - workstation

12 STEIN300 SoftMove_Stands_07_GB.doc / 11.2018



4.3.2 Components inside the stands

Fig. 4-2:
Additional Components
inside the stand:

4 | Slave”

5 Power unit for
EC drive motor

4.3.3 Configuration of stands
Fig. 4-3: II'
Types of stands
1 Stand-STO

2 Double column stand -
DSTO

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018

13



Fig. 4-4:
Types of stands

1

2

14

Stand with one
power unit - F1
Stand with two
power units - F2
Stand with three
power units - F3
Stand with Slave NT -
FNT

Stand with one
power unit and
Slave NT - FINT
Stand with two
power units and
Slave NT - F2NT
Stand with three
power units and
Slave NT - F3NT

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018



Fig. 4-5:
Standerarten - Doppel-
stander

1

2

Double stand with
one power unit - DF1
Double stand with
two power units - DF2
Double stand with
three power units -
DF3

Double stand with
four power units -
DF4

Double stand with
Slave NT -DFNT
Double stand with
one power unit and
Slave NT - DFINT
Double stand with
two power units and
Slave NT - DF2NT
Double stand with
three power units and
Slave NT - DF3NT
Double stand with
four power units and
Slave NT - DFANT

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018

15



WO QUALITAT

ZU HAUSE IST

5 Installation of the stand

5.1 Procedure

A A\

DANGER!

A A\

DANGER!

A\

WARNING!

A\

WARNING!

The installation procedure can be divided into 4 phases:
Preparation,

Stand installation,

Connection of the Slave NT,

oooo

Connection of the power unit.

CAUTION! HIGH ELECTRICAL VOLTAGE!

Electrical components must be installed and removed exclusively by trained spe-
cialists from STEIN Automation or by other qualified electricians!

CAUTION! HIGH ELECTRICAL VOLTAGE!

Stand bases without power unit must be earthed with an additional earth cable!

Stands must never be worked on when under tension. Get in touch with STEIN Automa-
tion if additional structural changes have to be made to a stand.

On processing stations which generate shavings (for example drilling or thread-cutting
machinery), covers should be installed to avoid shavings or cooling fluid coming into
contact with the power unit or the Slave NT.

Further information is available from STEIN Automation.

5.2 Preparation

A

DANGER!

A A\

DANGER!

16

From the Workpiece Transport System starting unexpectedly.

HIGH ELECTRICAL VOLTAGE!
Risk of electric shock!

The power unit and Slave must not be connected up during installation work!

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018



5.3  Stand installation
Protective clothing must be worn!
Wear your personal safety clothing: Safety footwear and safety gloves.

Remember that the stands are very heavy!

Use suitable equipment, such as lifting tackle, to transport and install the stands.
WARNING!

Fig. 5-1:

Stand installation

1 Cross section with
holes

A Secure the stand so it does not fall over!

WARNING! Falling stands can result in personal injury or property damage.

Initial installation of the stand -
Connecting the stand to a belt element:

O Lay a protective mat of the same length as the belt element onto the floor to avoid
damage to the belt element.

U Place the belt element onto the mat with the aluminium section on top.

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018 17



Fig. 5-2:
Pre-assembly screws and
T-slotted nuts

Pre-assembly of the screws and T-slotted nuts on the stand base.

U Insert the screws into the through holes in the stand cross section.

U Place the T-slotted nuts onto the screws.

U Turn the screws through one or two revolutions into the T-slotted nuts.

U Place the stand base vertically with the screws in front onto the belt section and ad-
just the T-nuts to be parallel to the aluminium section.

U Insert the T-nuts into the aluminium section.

O Adjust the stand base.

U Tighten the screws with TONm.

18 STEIN300 SoftMove_Stands_07_GB.doc / 11.2018



Abb. 5-3:
Adjustable base
adjustment

1 Locknut

2 Retaining screw
3 Adjustable base

A\

WARNING!

ol m

Stand retro-fitting -
Installing a stand later into a WTS faciltiy

Pre-assembly of the screws and T-slotted nuts on the stand base.

Insert the screws into the through holes in the stand cross section.
Place the T-slotted nuts onto the screws.

Turn the screws through one or two revolutions into the T-slotted nuts.
Turn the stand base down to its lowest height.

Tilt the stand through about 40°.

Position the pre-assembled stand base under the relevant belt element.

oCooo0opood

Re-erect the stand base again and at the same time adjust the T-nuts to be parallel
to the aluminium section.

(W]

Insert the T-nuts into the aluminium section.
Adjust the stand base.
U Tighten the screws.

O

Stand adjustment

Adjustable range
+/-13 mm

Do not unscrew the adjustable bases (3) of the stands too far out!

The threading has to remain firmly within the stand.

O Make sure that:

e There is still sufficient thread available to allow for adjustments that may need
to be made after setting up the other stands, to allow for unevenness in the
floor.

e  You take into account the right installation height of the transport section re-
quired for supplying the processing stations!

O Loosen the locknut (1) on the stands.

U Adjust the height of the stand with the adjustable bases.
Please refer to the chapter “Technical data” to find the maximum adjusting range.

Please refer to chapter 10 for the installation and other dimensions.

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018 19



5.3.1 Anchoring the stands

Fig. 5-4:
Module anchoring

1 Adjustable base
2 Retaining screw

WARNING!

Anchoring the stands increases the functional safety of the WTS!

Watch out for pipes and cables that may be laid in the area where you make holes!

In order to secure the stands:

O Turn the adjustable bases so that the hole for the locking screw is easily accessible.
U Then drill the hole - see table.
U Put the dowel directly into the hole.
U Tighten the locking screw with a torque of max. 5 Nm.
Dowel description Liebig dowel Fischer dowel S10
Bore hole J: 8 mm 10 mm
Bore hole depth 70 mm 50 mm

Locking screw

inBoA-G8/15

For Liebig dowels already included Wood screw 8 x 60

DIN 571

20

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018




5.4 Connection of the Slave NT

A A Connection to the mains power supply must be carried out exclusively by trained

specialists from STEIN Automation!
DANGER!

L For details of the electrical connections of the Slave NT please refer to the STEIN 300
1 operating instructions.

5.5 Connection of the power unit to the mains supply

A A Connection to the mains power supply must be carried out exclusively by trained

specialists from STEIN Automation!
DANGER!

For details of the electrical connections of the power unit please refer to the STEIN 300
operating instructions.

ol m

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018 21



6 Initial operation

Carry out the following checks before initial operation:

U Are all the electrical cables undamaged?

U Are all the electrical cables correctly connected?

U Have all the mechanical components been tightly fastened in place?

U Have all tools and other equipment been cleared from the transport area?

Once you have carried out all these checks, you can continue with the initial operation.
U Switch on the Transport System and its associated processing stations and carry out
a trial run.

U Check the functions of the individual elements and processing stations as well as the
pre-programmed overall operation of the entire system.

Only start the Transport System once you have carried out a successful trial run.

WARNING!
7 Stand operation
Switching on the stands occurs centrally through switching on the WTS facility.
8 Faults

A\

WARNING!

22

It is not permitted to repair damaged and / or defective parts.
Get in touch with STEIN Automation.
The service address is on page 2.

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018



9 Cleaning, inspection, maintenance

9.1 Cleaning

’._..

DANGER!

VAN

GEFAHR

<

> @

WARNING!

Cleaning does not mean the stand needs to be dismantled.

From the Workpiece Transport System starting unexpectedly.

HIGH ELECTRICAL VOLTAGE!
Risk of electric shock!

O 1 Before carrying out any installation or repair work, disconnect the relevant Work-
piece Transport System from its electrical power supply.

U 2 Disconnect the workpiece transport system from its compressed air supply.

O 3 Put up warning signs to prevent the system being started up while installation and
repair work is being done.

Protective clothing must be worn!

When cleaning, wear goggles, safety gloves and a dust-mask.
Only use a vacuum cleaner to remove dust, shavings and other particles.

O Remove dust, shavings and other particles with a vacuum cleaner.

When cleaning, do not use any abrasive, corrosive or scouring cleaning fluids or cleaning
materials.
Avoid fluid getting into the components of the system!

STEIN Automation recommends Industrie Clean manufactured by Wiirth, Item
number: 893140 or Arecal Clean manufactured by RECA Norm,
article no.: 0895014500.

Depending on the usage conditions and the degree of soiling:
O Clean the surfaces with a soft, lint free cloth, lightly dampened with cleaning fluid.

Environmental protection!

Dispose of waste material and used cleaning cloths in an environmentally responsible
way.

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018 23



9.2 Inspection

Interval Component Inspection Solution
criterion
Annually
Power unit plug Stable connection Tightly fit push connect-
or.
Slave NT plug Stable connection Tightly fit push connect-
or.
Stand overall Play, functional Re-tighten loose con-
accuracy nections

9.3 Maintenance

The stand is maintenance free.

24 STEIN300 SoftMove_Stands_07_GB.doc / 11.2018



10 Dimensions sheet

Fig. 10-1: Einzelstdnder Doppelsténder

Dimensions sheet

Lqgo=

NG

- Pallet width (PB), for belt element and 160 x 160 / 240 x 240 /
transfer width (UB), for transverse sec- 320 x 320 / 400 x 400 mm
tion

- Lst = belt height (H) - 170 mm

- Laqo = length cross section top

- Lau = length cross section bottom

- Laup = length cross section bottom
double

- H 700 - 1100 mm

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018 25



11 Spare parts

11.1 300 580 001 Stand for SOFT MOVE

S$31239_Verschluss_Stopfen Fa. Lawal
Ve M5x30 $31284

s H)/smzeg M6

531493 Abdeckstopfen 5.4 Sibalco \
) \_ M6x10 DIN912 31321

(Bei Bedarf einbauen

300_824_001

In Stackliste vom
Meotor vorhanden

300 003 006

531493 Abdeckstopfen 5.4 Sibalco/ 300 580 002
(Bei Bedarf einbauen) _—

300 003 005

300 003 004 6kt Mutter M12 DING34 S30530

Scheibe B13 DIN125 830518
531253

300 003 002 p 1
L H\MS 30 531284
X,

Fig. 11-1: F1 - Stand for SOFT MOVE with one power unit - (300 580 001)

S$31239_Verschluss_Stopfen Fa. Lawal
M5x30 S31284

$31269 M6 s 3 J
300 003 002 Tour

M6x10 DIN912 S31321
300 003 006
(300_824_001)
In Stackliste vom
Motor vorhanden
T
300 580 002
300 003 005
300 003 004 6kt Mutter M12 DIN934 S30530

Scheibe B13 DIN125 S30518

300 003 002

1 ﬂﬂ ﬂ\ $31253

M5x30 531284

Fig. 11-2: F2 - Stand for SOFT MOVE with two power units - (300 700 001)

26 STEIN300 SoftMove_Stands_07_GB.doc / 11.2018



831239_Verschluss_Stopfen Fa. Lawal
$31269_M6

Bei Bedarf einbauen

831493 Abdeckstopfen 5.4 Sibalco\
e

531284 M5x30_flr St
300 003 002

\iu*ﬁgmo 003 006

& I
/ Q\Msmo DINg12 $31321

e
:\

~ b

NG

&>

=0
L@
0 =6 0

. : Q/
\/
| _\//ﬁf - ~ In Stiickliste vom
, I & / Motor enthalten
g ~ (300_824_001)
%‘ L~
300_718_002

(300_824_001)

In Stuckliste vom
Motor enthalten

6kt Mutter M12 DIN934 S30530
Scheibe B13 DIN125 S30518

e

/Q\aoo 003 005

Abb. 11-3: F3 - Stand for SOFT MOVE with three power units - (300 718 001)

Order number Description Number

=y 300 003 002 Cover plate 4
300 003 004 Square nut 2
” 300 003 005 Cross section bottom 1
H 300 003 006 Cross section top 1
300 580 002 Stand base section 1
300718 002 Stand base section 1
S30518 Washer 2
(o) S30530 Nut 2
é S31253 Adjustable base 2
N S31284 Screw 8
Jt S31269 Slot nut 4
o S31321 Screw 4
o S31239 Blanking plug 4

ﬁ 300 824 001 Power su_pply unit. (Included in the 1(2/3)

spare parts list of the drive motor)

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018

27




11.2 300581 001 Stand for SOFT MOVE with Slave NT

S$31239_Verschluss_Stopfen Fa. Lawal

i(soo 003 006

§ =0l

M5x30 S31284
\ﬁ -
531269 MS\\‘ b ]I
[
300 003 002— 57

M6x10 DING12 31321 /Ej

531493 Abdeckstopfen 5.4 Sibalco

(Bei Bedarf einbauen)

(300_824_001)
In Stiickliste vom
Motor vorhanden

531493 Abdeckstopfen 5.4 Sibalco/w
(Bei Bedarf einbauen)

300 587 001

6kt Mutter M12 DIN934 S30530

Scheibe B13 DIN125 830518\xi

L —— =

/@\300 003 005

sat253’ L ﬂﬂ‘ [~~m5x30 531284

(300_824_001)

In Stuckliste vom
Motor vorhanden

300 587 001

300_581_002
6kt Mutter M12 DIN934 S30530

Scheibe B13 DIN 125 S30518
\a 300 003 005

300 003 004
300 003 002

S
M5x30831284/ﬂ I l

Fig. 11-5: F2NT - Stand for SOFT MOVE with two power units and Slave NT - (300 702 001)

28 STEIN300 SoftMove_Stands_07_GB.doc / 11.2018



S31239_Verschluss_Stopfen Fa. Lawal

L =
‘L = H = 831284 M5x30_fur St
s31269_|\f|6x 1 . E;
531493 Abdeckstopfen 5.4 Sibalco - il
Bei Bedarf einbauen \e\\i‘ o |
M6x10 DING12 331321/5;'é 900026 001
J=ct= DU
Eoam-
B S 300_824_001)
In Stiickliste vom
(300 824 001) Motor enthalten
In Stackliste vom
Motor enthalten
R 300_719_002
Bkt Mutter M12 DIN934 S30530
300 003 004 Scheibe B13 DIN125 S30518
300 003 002 | \
—— 0\/—/ (."

1 ﬂ. ! 300 003 005

B\83'1284 M5x30_fur St

Fig. 11-6: F3NT - Stand for SOFT MOVE with three power unit and Slave NT - (300 719 001)

831239 Verschluss_Stopfen Fa. Lawal

=2
531269 M6 I
>

300 003 002

M6x10 DIN912 $31321—2

&
i

531493 Abdeckstopfen 5.4 Sibalcof
\
“'\
\

> b

300 587 001 9s

6kt Mutter M12 DIN934 30530
Scheibe B13 DIN125 S30518 x
300 003 004 \@

300 003 002% s
_?g_, 1

531253

I ‘300 003 005
f~-Mm5x30 531284
1

Fig. 11-7: FNT - Stand for SOFT MOVE with Slave NT - (300 581 001)

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018 29



Order number Description Number
- 300003002 | Cover plate 4
~ 300 003 004 Square nut 2
A= 300 003005 | Cross section bottom 1
ANy 300 003006 | Cross section top 1
300 581002 Stand base section 1
300719 002 Stand base section 1
300587 001 Fuse box for Slave NT 1
500 026 001 Slave NT 1
S30518 Washer 2
(o) S$30530 Nut 2
é S31253 Adjustable base 2
N S31284 Screw 8
'Jn S31269 Slot nut 4
e S31321 Screw 4
o S31239 Blanking plug 4

Power supply unit (Included in the spare
ﬁ 300 824 001 parts list of the drive motor) 1 (2/3)

30

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018



11.3 300 600 001 Double stand for SOFT MOVE with / without power unit

531239_Verschluss_Stopfen Fa. Lawal
531269 M6 \

- 300 003 006

M5x30 531284
300 003 002 300 003 0086 < B/
U =
M6x10 DIN912 §31321 E—

5

531493 Abdeckstopfen 5.4 Sibalco\

(Bei Bedarf einbauen)

(300_824_001)

In Stickliste vom
Motor vorhanden

300 003 003

S$31493 Abdeckstopfen 5.4 Sibalco/

(Bei Bedarf einbauen)
300 580 002\

6kt Mutter M12 DIN934 S30530
Scheibe B13 DIN125 530518

300 003 004

300 003 002~

531253

Vs
M&x30 S31284

R

T

M5x30 S31284
1 1y
300 032 002

Fig. 11-8: DF1 - Double stand for SOFT MOVE with one power unit - (300 600 001)

S531239_Verschluss_Stopfen Fa. Lawal

300 003 006 M5x30 531284

$31269 M6

300 003 002 300 003 006
M6x10 DINg12 $31321
(300_824_001)
In Stickliste vom
Motor vorhanden 300 003 003

300 580 002

6kt Mutter M12 DIN934 S30530
Scheibe B13 DIN125 S30518

300 003 004

M5x30 $31284

Fig. 11-9: DF2 - Double stand for SOFT MOVE with two power units - (300 703 001)

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018

31




S531239_Verschluss_Stopfen Fa. Lawal
300 003 006 M5x30 531284

531289 M6

300 003 002

Méx10 DIN912 831321
300 003 006

(300_824_001) -y |_300_580_002

In Stackliste vom ] =
Motor vorhanden

300 580 002

6kt Mutter M12 DIN934 S30530
Scheibe B13 DIN125 530518

M5x30 S31284

'
M5x30 531284

Fig. 11-10: DF3- Double stand for SOFT MOVE with three power units - (300 704 001)

531239_Verschluss_Stopfen Fa. Lawal

300 003 006
531269 M6

300 003 002 \
M6x10 DIN912 831321§;. g

M5x30 31284

300 003 006

L ’ 300_580_002
(300_824_001)—=—" : L

In Stuckliste vom N
Motor vorhanden

300 580 002

6kt Mutter M12 DIN934 S30530

Scheibe B13 DIN125 S30518

300 003 004\\\.1. ——

300003002 &5 \ 1, I | —msx30 531284
e \ ol
531253 iy l 300032002
M5x30 S31284

Fig. 11-11: DF4 - Double stand for SOFT MOVE with four power units - (300 705 001)

32 STEIN300 SoftMove_Stands_07_GB.doc / 11.2018



Order number Description Number
) 300 003002 | Cover plate 6
wy/ 300 003 004 Square nut 2
” 300 003 006 Cross section top 2
” 300 032 002 Cross section bottom 1
300 003 003 Stand base section 1
300 580 002 Stand base section 1
S30518 Washer 2
(o) S$30530 Nut 2
é S31253 Adjustable base 2
N S31284 Screw 16
Jt S31269 Slot nut 8
o S31321 Screw 8
(e | S31239 Blanking plug 8

Power supply unit (Included in the spare
ﬁ 300 824 001 parts list of the drive motor) 1 (2/3/4)

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018

33



11.4 300601001 Double stand for SOFT MOVE with Slave NT

S$31239_Verschluss_Stopfen Fa. Lawal
\3 E M5x30 531284

S$31269 M6 300 003 ODG\
\

[

S$31493 Abdeckstopfen 5.4 Siba\lco/p
(Bei Bedarf einbauen)

500 026 001

(Bei Bedarf einbauen) =

531493 Abdeckstopfen 5.4 Sibalco\p

-[-300 587 001

300 580 002

6kt Mutter M12 DIN934 S30530
Scheibe B13 DIN125 S30518

\ -l
300003004\ | IR o B

N
300 003 002 5

$31253 [

T2 \isxa0 531284

300 032 002

l

B\MSXSD S31284

Abb. 11-12: DFNT - Double stand for SOFTMOVE with Slave NT - (300 601 001)

S31239_Verschluss_Stopfen Fa. Lawal\%?

T ‘[j = _M5x30 $31284
S31269 M6 300 003 006 !

!
300 003 002 \ \ Ty e

\E = - |
M6x10 DIN912 831321 ~1 _—

.

~.

\300 003 006

> %@ 500 026 001

(300_824_001) 300 601 002
In Stickliste vom
Motor vorhanden

300 587 001

531493 Abdeckstopfen 5.4 Sibalcoﬁ
(Bei Bedarf einbauen)

300 560 002
\
N

6kt Mutter M12 DIN934 S30530
Scheibe B13 DIN125 S30518
300 003 004

~ %
300 003 002]
531253

Abb. 11-13: DFINT - Double stand for SOFTMOVE with one power unit and Slave NT - (300 706 001)

34

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018



$31239_Verschluss_Stopfen Fa. Lawal—__ v

-

= [

300 003 006 U I

$31269 M6 \g —

\@_ _— =N mg i:t\’

=’ = =1
300003002— g~ —T &

M6x10 DIN912 S31321 a

(300_824_001)

In Stickliste vom
Motor vorhanden

300 580 002\ 300_601_002
IS /

6kt Mutter M12 DIN934 S30530
Scheibe B13 DIN125 830518 \@

;l\ﬁ

300 003 004 \ﬁ L
/E T E— M5x30 531284
300 003 002 l 1 : ﬁ/
s31253° | L l 300 032 002
M5x30 S31284

Abb. 11-14: DF2NT - Double stand for SOFTMOVE with two power units and Slave NT - (300 707 001)

531239 _Verschluss_Stopfen Fa. Lawal -
e [ °
o =] e
$31284 M5x30_fur St/H u _ l\m
S31269 M6~ 300 003 006 o e
[ it 1
\g_g o\:»\_;g" E}f//x
= —T 300 003 006
P
M6x10 DIN912 S31321/€’\FL/ 6 (300_824_001)
=il ackisto v
== Motor wornandan
. 500 026 001
(300_824_001) L\r-——’ ’ 300 587 001

In Stuckliste vom
Motor vorhanden

[

/ 300_581_002

300_580_002

6kt Mutter M12 DIN934 S30530._ |
Scheibe B13 DIN125 S?:O’c'ﬂs\ﬂ?J
\?

Abb. 11-15: DF3NT - Double stand for SOFTMOVE with three power units and Slave NT - (300 738 001)

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018

35




531239_Versc|
S31269 M6.

531253

M6x10 DIN912 S31321 = _
\E\ [ —

gk

531284 M5x30_flr St

hluss_Stopfen Fa. Lawal

]

| — |
(300_824_001)
In Stuckliste vom
Motor vorhanden .
300_580_002
300_581_002
T
300 032 002
6kt Mutter M12 DIN934 S30530 ‘
Scheibe B13 DIN125 830518¢ //
300 003 004 " - ﬁ\/: !
5 I
300 003 002— <) L _——— 1 ]

!ﬂ l
x30 fur St

531284 M

Abb. 11-16: DFANT - Double stand for SOFTMOVE w

ith four power units and Slave NT - (300 764 001)

Order number Description Number
=y 300 003 002 Cover plate 6
w/ 300 003 004 Square nut 2
H 300 003 006 Cross section top 2
H 300 032 002 Cross section bottom 1
300 580 002 Stand base section 1
300 581 002 Stand base section 1
300 601 002 2:and tube for Slave and fuse cov- :
,‘2&
. 300 587 001 Fuse box for Slave NT 1
o
500 026 001 Slave NT 1
°p S31269 Slot nut 8

36

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018




e S31321 Screw 8
o $31239 Blanking plug 8
S30518 Screw 2
(o) S30530 Nut 2
é S31253 Adjustable foot 2
\; $31284 Screw 16
Power supply unit (Included in the spare
ﬁ 300 824 001 parts list of the drive motor) 1(2/3/4)

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018

37



38

11.5

300 440 003

Installation duct for stands with slave
Montage Installationskanal
Slave rechts
320747‘
300 440003 \\
300 440 002

Fig. 11-17: Installation duct for stand with slave - on the right - (300 440 001)
Montage Installationskanal
S20747
300 440 003 \
TR
300 440 004 P \
300 440 003

Fig. 11-18: Installation duct for stand with slave - on the left - (300 725 001)

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018



11.5.1 Installation duct for stand with slave - on the right- 300 440 001

Bestellnummer Bezeichnung Anzahl
y 300 440 002 Installation duct on the right 1
’ 300 440 003 Installation duct cover 2
NS .
W S20747 Cap 40 - 60 x 110 Tehalit 1

11.5.2 Installation duct for stand with slave - on the left - 300 725 001

Bestellnummer Bezeichnung Anzahl
’ 300 440 004 Installation duct on the left 1
’ 300 440 003 Installation duct cover 2
NS .
W S20747 Cap 40 - 60 x 110 Tehalit 1

The installation ducts are not included in the standard delivery of the stand feet, this can
optionally be added.

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018 39



11.6 Installation duct for stands with slave and gateway

300_784_002

495 04 0004

300_784_002

520747

Montage Installationskanal
Slave rechts

Abb. 11-19: Installation duct for stands with slave and gateway - on the right - (300 844 001)

300_784_002

495 05 0003

300_784_002

S20747

Montage Installationskanal
Slave links

Abb. 11-20: Installation duct for stands with slave and gateway - on the left - (300 784 001)

40

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018




11.6.1 Installation duct for stands with slave and gateway - on the right - 300 844 001

Bestellnummer Bezeichnung Anzahl
Installation duct on the right
495 04 0004 1
300 784 002 Installation duct cover gateway 2
NS
NG S20747 Cap 40 - 60 x110 Tehalit 1

11.6.2 Installation duct for stands with slave and gateway - on the left - 300 784 001

Bestellnummer Bezeichnung Anzahl
495 05 0003 Installation duct on the left 1
300 784 002 Installation duct cover gateway 2
S20747 Cap 40 - 60 x 110 Tehalit 1

The installation ducts are not included in the standard delivery of the stand feet, this can
optionally be added.

jud

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018 41



11.7 Stand attachment

Fig. 11-21: Stand attachment

Order number Description Number
S $31269 Slotted nut *
LT $31321 Screw 4

42

* The number depends on the position of the stand in the system, e.g. A or B basic con-
figuration or C workstation.

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018




12 Appendix

12.1 Technical data

Possible track widths

160 - 400 [mm]

Dimensions

See chapter 10

Maximum range of adjustment
for stand bases

26 mm

Permissible loads

The stand may only be used for the mounting of STEIN Automation belt
elements with the permitted weights.

Empty weight

Stand
Double stand

ca. 10 kg
ca. 19 kg

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018

43



44

This information reflects the technical status at the time of printing.
STEIN Automation reserves the right to make technical updates.

STEIN Automation GmbH & Co. KG
Carl-Haag-StraBe 26
78054 VS-Schwenningen

Telephone +49 (0)7720 / 8307-0
info@stein-automation.de

www.stein-automation.de

STEIN300 SoftMove_Stands_07_GB.doc / 11.2018



	1 Abbreviations and symbols
	1.1 Explanation of safety and warning notices

	2 Introduction
	2.1 Short description
	2.2 Initial inspection
	2.3 Complaints
	2.4 Warranty

	3 Safety instructions
	3.1 General safety information
	3.2 Appropriate use and liability exclusions
	3.3 Residual danger
	3.4 Safety information for installation and repair work

	4 Technical description
	4.1 Scope of delivery
	4.2 Function
	4.3 Sub-assemblies
	4.3.1 Stands and double column stands
	4.3.2 Components inside the stands
	4.3.3 Configuration of stands


	5 Installation of the stand
	5.1 Procedure
	5.2 Preparation
	5.3 Stand installation
	5.3.1 Anchoring the stands

	5.4 Connection of the Slave NT
	5.5 Connection of the power unit to the mains supply

	6 Initial operation
	7 Stand operation
	8 Faults
	9 Cleaning, inspection, maintenance
	9.1 Cleaning
	9.2 Inspection
	9.3 Maintenance

	10 Dimensions sheet
	11 Spare parts
	11.1 300 580 001 Stand for SOFT MOVE
	11.2 300 581 001 Stand for SOFT MOVE with Slave NT
	11.3 300 600 001 Double stand for SOFT MOVE with / without power unit
	11.4 300 601 001 Double stand for SOFT MOVE with Slave NT
	11.5 Installation duct for stands with slave
	11.5.1 Installation duct for stand with slave – on the right– 300 440 001
	11.5.2 Installation duct for stand with slave – on the left – 300 725 001

	11.6 Installation duct for stands with slave and gateway
	11.6.1 Installation duct for stands with slave and gateway – on the right – 300 844 001
	11.6.2 Installation duct for stands with slave and gateway – on the left – 300 784 001

	11.7 Stand attachment

	12 Appendix
	12.1 Technical data



<<

  /ASCII85EncodePages false

  /AllowTransparency false

  /AutoPositionEPSFiles true

  /AutoRotatePages /None

  /Binding /Left

  /CalGrayProfile (Dot Gain 20%)

  /CalRGBProfile (sRGB IEC61966-2.1)

  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)

  /sRGBProfile (sRGB IEC61966-2.1)

  /CannotEmbedFontPolicy /Error

  /CompatibilityLevel 1.4

  /CompressObjects /Tags

  /CompressPages true

  /ConvertImagesToIndexed true

  /PassThroughJPEGImages true

  /CreateJobTicket false

  /DefaultRenderingIntent /Default

  /DetectBlends true

  /DetectCurves 0.0000

  /ColorConversionStrategy /CMYK

  /DoThumbnails false

  /EmbedAllFonts true

  /EmbedOpenType false

  /ParseICCProfilesInComments true

  /EmbedJobOptions true

  /DSCReportingLevel 0

  /EmitDSCWarnings false

  /EndPage -1

  /ImageMemory 1048576

  /LockDistillerParams false

  /MaxSubsetPct 100

  /Optimize true

  /OPM 1

  /ParseDSCComments true

  /ParseDSCCommentsForDocInfo true

  /PreserveCopyPage true

  /PreserveDICMYKValues true

  /PreserveEPSInfo true

  /PreserveFlatness true

  /PreserveHalftoneInfo false

  /PreserveOPIComments true

  /PreserveOverprintSettings true

  /StartPage 1

  /SubsetFonts true

  /TransferFunctionInfo /Apply

  /UCRandBGInfo /Preserve

  /UsePrologue false

  /ColorSettingsFile ()

  /AlwaysEmbed [ true

  ]

  /NeverEmbed [ true

  ]

  /AntiAliasColorImages false

  /CropColorImages true

  /ColorImageMinResolution 300

  /ColorImageMinResolutionPolicy /OK

  /DownsampleColorImages true

  /ColorImageDownsampleType /Bicubic

  /ColorImageResolution 300

  /ColorImageDepth -1

  /ColorImageMinDownsampleDepth 1

  /ColorImageDownsampleThreshold 1.50000

  /EncodeColorImages true

  /ColorImageFilter /DCTEncode

  /AutoFilterColorImages true

  /ColorImageAutoFilterStrategy /JPEG

  /ColorACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /ColorImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000ColorACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000ColorImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasGrayImages false

  /CropGrayImages true

  /GrayImageMinResolution 300

  /GrayImageMinResolutionPolicy /OK

  /DownsampleGrayImages true

  /GrayImageDownsampleType /Bicubic

  /GrayImageResolution 300

  /GrayImageDepth -1

  /GrayImageMinDownsampleDepth 2

  /GrayImageDownsampleThreshold 1.50000

  /EncodeGrayImages true

  /GrayImageFilter /DCTEncode

  /AutoFilterGrayImages true

  /GrayImageAutoFilterStrategy /JPEG

  /GrayACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /GrayImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000GrayACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000GrayImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasMonoImages false

  /CropMonoImages true

  /MonoImageMinResolution 1200

  /MonoImageMinResolutionPolicy /OK

  /DownsampleMonoImages true

  /MonoImageDownsampleType /Bicubic

  /MonoImageResolution 1200

  /MonoImageDepth -1

  /MonoImageDownsampleThreshold 1.50000

  /EncodeMonoImages true

  /MonoImageFilter /CCITTFaxEncode

  /MonoImageDict <<

    /K -1

  >>

  /AllowPSXObjects false

  /CheckCompliance [

    /None

  ]

  /PDFX1aCheck false

  /PDFX3Check false

  /PDFXCompliantPDFOnly false

  /PDFXNoTrimBoxError true

  /PDFXTrimBoxToMediaBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXSetBleedBoxToMediaBox true

  /PDFXBleedBoxToTrimBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXOutputIntentProfile ()

  /PDFXOutputConditionIdentifier ()

  /PDFXOutputCondition ()

  /PDFXRegistryName ()

  /PDFXTrapped /False



  /CreateJDFFile false

  /Description <<



    /BGR <>

    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>

    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>

    /CZE <>

    /DAN <>

    /DEU <>

    /ESP <>

    /ETI <>

    /FRA <>

    /GRE <>



    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)

    /HUN <>

    /ITA <>

    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>

    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>

    /LTH <>

    /LVI <>

    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)

    /NOR <>

    /POL <>

    /PTB <>

    /RUM <>

    /RUS <>

    /SKY <>

    /SLV <>

    /SUO <>

    /SVE <>

    /TUR <>

    /UKR <>

    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)

  >>

  /Namespace [

    (Adobe)

    (Common)

    (1.0)

  ]

  /OtherNamespaces [

    <<

      /AsReaderSpreads false

      /CropImagesToFrames true

      /ErrorControl /WarnAndContinue

      /FlattenerIgnoreSpreadOverrides false

      /IncludeGuidesGrids false

      /IncludeNonPrinting false

      /IncludeSlug false

      /Namespace [

        (Adobe)

        (InDesign)

        (4.0)

      ]

      /OmitPlacedBitmaps false

      /OmitPlacedEPS false

      /OmitPlacedPDF false

      /SimulateOverprint /Legacy

    >>

    <<

      /AddBleedMarks false

      /AddColorBars false

      /AddCropMarks false

      /AddPageInfo false

      /AddRegMarks false

      /ConvertColors /ConvertToCMYK

      /DestinationProfileName ()

      /DestinationProfileSelector /DocumentCMYK

      /Downsample16BitImages true

      /FlattenerPreset <<

        /PresetSelector /MediumResolution

      >>

      /FormElements false

      /GenerateStructure false

      /IncludeBookmarks false

      /IncludeHyperlinks false

      /IncludeInteractive false

      /IncludeLayers false

      /IncludeProfiles false

      /MultimediaHandling /UseObjectSettings

      /Namespace [

        (Adobe)

        (CreativeSuite)

        (2.0)

      ]

      /PDFXOutputIntentProfileSelector /DocumentCMYK

      /PreserveEditing true

      /UntaggedCMYKHandling /LeaveUntagged

      /UntaggedRGBHandling /UseDocumentProfile

      /UseDocumentBleed false

    >>

  ]

>> setdistillerparams

<<

  /HWResolution [2400 2400]

  /PageSize [612.000 792.000]

>> setpagedevice



